EARAROBREBRT —5 XN—ZXBISH—F

20224E3811H (&) 10@KR18

W EDKRBEA—T-V08 C2+# YS5FZ—K BRI
[x&%] 1 7& :300,000 @  23#&:105,000  33#&:60,00MH . 43%&:30,000”  53&:15,000H
B % B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
sy~ < LR 124, -3-3- . - =HEE (KR
N RS e | g vt | ears el - |1 ] | 8BS o
R:FA—=TAVNT s B I—-IVRARYFP— ZH &b
' £y 5 | SR 1:24.5 2-2-2-2 | 40.4| - 2 | 488 | ZRERHE— (BXF)
20111 |97ILF 56.0 @172 (a) | EETIRIF
RIET7RA7 B:7UFYR HEINUS
ty 5 | BEKE 1:24.8 1-1-1-1 [ 40.9| - 3 524 | RERIDR (KR)
37| 8| IREYE—R 56.0 (1172 w1 | B ARHE
RinZ—ka1—X BLVEVFPY ha K
s, = I\ihZE 2 -5-6- - EREHSLE  (BEfE)
417]9 | RYRYF 1 5 | LM 1.(245).4 5-5-6-4 | 40.1 9 (ﬁg} R
RiXAvavR—5— B:RN—TLAR BE f&
= A :25. -6-5- . - WHR— (B5E)
58|11 TARILETAE 7| B R A=
RZATFAIA=ILR B:RARMo AV EvIUyRIT7—1A
: o8 | BAI 1:26.4  |11-11-11-10 40.1 | — | 6 | 489 |FoES= (BEM)
618110 O—Uibd4 99— %.On ®) ) |8 V=T
RINMVFSY BT TI—R BEKS
=~, g~ LUASEES :26. -10-10~ . - I\FHETE (EXM)
KSEVIY # o5 | WA 1(/%%1 10-10-10-8 | 40.2 5 (1_1;1181) ﬁéﬁf_
Rib—tURIURY 8:39—-LTS5Vyz J=YUTr7—L
8= 5 | BRERE 1:26.4 34-4-4 |01 — | 8 | 431 |#PE— (KR)
FTHSFIYU— i 54.0 (\F) 1) |BEIES
R:XA(Y3vR—5— B:A/00-X REKIS
i 8 | AE 1:26.8 6-8-7-7 |41.2| — | 10 | 415 |HERAD (EEM)
1¥7 54.0 172 @3 |WORF
RiAVTVTIN—RY BNTUVITTSAR B 82
3 S AFitEE :27. -9-9- . = FES= (EEE)
TLAA— LT o6 | 24 (12217/22) 9-9-9-9 | 41.4 7 :1+539) Eﬁgm
RILA—DAF— BILA—FUITS mEx —K
= o — PaEREEfe : -7-8- - {EQARBE] (KR
FSAF4TEA o4 | HERE 1.(227).5 8-7-8-10 | 41.9 1 (4_837) e (KR
RiUFVF4—X B:ISATATPIVR MRS
® 11— —@BIEfI
13—7F— |8,1,6,4,9,(7,11),3,5,2,10
2J0—7+— |8,1,4,6,9,11,3,7,5,2,10
3J0—7— |[8,1.4,6,11,9,7,3,5,2,10
430—73— |8.,1.4,(6.,9).11,7,2,5,(3,10)
@ Ih\R=E
B B 4 1801 | | DA & 1-4 190 % & 1-4 3109 3iEE 1-4-8 530M
B B 4 1003 4-8 210M 5 & 1-4 320 EL| 4-1-8 1,080MH
1 1208 1-8 300M =] 4-1 370/
8 180F4

ABIC OV TRUTEREERRODDZE. THRIIZEL.




